



Vendor Ranking

Page 1 of 1

 Letting:
 05181002
 October 02, 2018 2:00PM
 Call Order: 010
 Contract:
 E5U70

 District:
 District 5
 Counties:
 VOLUSIA
 Fed Aid No: N/A

Contract Time: 180 CALENDAR DAYS Project(s): 42783317205

Contract Desc: Thermoplastic Pavement Markings and RPMs

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SOUTHERN STATES PAVEMENT MARKINGS, LLC	Responsive	Winning bid	\$2,100,179.18	100.00%
2	OGLESBY CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$2,170,480.99	103.35%
3	ACME BARRICADES, L.C.	Responsive	Non-Winning Bid	\$3,236,003.45	154.08%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 4

Letting:05181002October 02, 2018Call Order:010Contract:E5U70District:District 5Counties:VOLUSIAFed Aid No: fedprojectsContract Time:180 CALENDAR DAYSProject(s): 42783317205

Contract Descr: Thermoplastic Pavement Markings and RPMs

FDOT District 5 Proposal ID: E5U70

Financial Project No: 427833-1-72-05

Fiscal Year: 2019

Counties: Volusia Contract Calendar Days: 180

Lead Time: 14 Days

This is a Maintenance Pay Item Project.

INTENT AND SCOPE:

The work includes the removal and replacement of thermoplastic pavement markings and RPMs on specified roadways in Voulsia County.

This project involves encroachment of railroad rights of way. Enhanced insurance limits and other considerations are specified in the contract documents.

EXPERTISE REQUIRED:

For this Contract the Contractor is required to have at least three (3) years of experience in the performance of Pavement Markings, or the Project Superintendent must have at least three (3) years of like experience as a Superintendent. A Contractor that presently has a certificate of prequalification with the Department in "Pavement Markings" will suffice to meet the above requirements.

Line No / Item ID Alte	ernate Quantity Units	(1) SOUTHER PAVEMENT MA		(2) OGL CONSTRUC		(3) ACME BAF	RRICADES, L.C.
() indicates item is bid as Lump	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	PAVEMENT ST	RIPING (LARGE	MACHINE) (LM)				
0005 0101 1 MOBILIZATION	(1.000) LS	14,000.00000	14,000.00	40,500.00000	40,500.00	45,000.00000	45,000.00
0010 0102 1 MAINTENANCE OF TRAFFIC	(1.000) DA (LS)	1,000.00000	1,000.00	57,000.00000	57,000.00	65,000.00000	65,000.00



Page 2 of 4

Florida Department of Transportation



Tabulation of Bids

Letting:	05	5181002 O	ctober 02, 20	18 Ca l	ll Order: 010		Contract:	E5U70	
	o / Item ID escription	Alternate	Quantity Units	(1) SOUTHEI PAVEMENT MA		(2) OGL CONSTRUC		(3) ACME BAR	RICADES, L.C.
() indica	ates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION:	0001 P	AVEMENT ST	RIPING (LARGE I	MACHINE) (LM)				
PROFILED THERMOR	PLASTIC,ST	ANDARD- S, WHITE, SOLID	73.539 GM 9,6"	4,300.00000	316,217.70	5,200.00000	382,402.80	5,400.00000	397,110.60
PROFILED THERMOR	0701 18201 O PLASTIC,ST SURFACES		10.769 GM	4,300.00000	46,306.70	5,200.00000	55,998.80	5,400.00000	58,152.60
PROFILED THERMOR	PLASTIC,ST	ANDARD- S, YELLOW, SKIF	25.417 GM P,6"	2,500.00000	63,542.50	1,800.00000	45,750.60	2,100.00000	53,375.70
THERMOF	" FOR STOP	TANDARD, WHIT P LINE AND	25,569.000 E, LF	3.50000	89,491.50	4.50000	115,060.50	4.00000	102,276.00
THERMOF	0711 11160 PLASTIC, ST E OR SYMBO	TANDARD, WHIT OL	577.000 E, EA	100.00000	57,700.00	25.00000	14,425.00	125.00000	72,125.00
	0711 11170 PLASTIC, ST	FANDARD, WHIT	1,814.000 E, EA	135.00000	244,890.00	30.00000	54,420.00	65.00000	117,910.00
THERMOF THERMOF	PLASTIC PA	EMOVE EXISTIN		0.45000	322,892.55	0.44000	315,717.16	1.40000	1,004,554.60





Tabulation of Bids

Page 3 of 4

Letting:	05181002	October 02, 20	18 Ca l	II Order: 010		Contract:	E5U70	
Line No / Ite		ernate Quantity Units	(1) SOUTHE		(2) OGI CONSTRUC		(3) ACME BAF	RRICADES, L.C.
() indicates it	em is bid as Lump	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	PAVEMENT ST	RIPING (LARGE I	MACHINE) (LM)				
0050 E706 REFLECTIVE F MARKER(REM REPLACE)(CLA	AVEMENT OVE AND	117,265.000 EA	2.65000	310,752.25	2.85000	334,205.25	3.25000	381,111.25
0055 E711 THERMOPLAS SOLID, 6"	I1121 TIC, STANDARD	536,342.000 D, WHITE, LF	0.54000	289,624.68	0.62000	332,532.04	0.80000	429,073.60
0060 E711 THERMOPLAS SKIP, 6"	I1141 TIC, STANDARD	122,540.000 D, WHITE, LF	0.54000	66,171.60	0.83000	101,708.20	0.80000	98,032.00
0065 E711 THERMOPLAS YELLOW, SOLI	TIC, STANDARD	512,572.000), LF	0.54000	276,788.88	0.62000	317,794.64	0.80000	410,057.60
0070 E711 THERMOPLAS YELLOW, SKIP	TIC, STANDARD	1,483.000 D, LF	0.54000	800.82	2.00000	2,966.00	1.50000	2,224.50
	EMENT STRIPIN E MACHINE) (LI	NG Section Totals: M)		\$2,100,179.18		\$2,170,480.99		\$3,236,003.45
	Contra	ct Grand Totals:		\$2,100,179.18		\$2,170,480.99		3,236,003.45



10/12/2018

Tabulation of Bids

Page 4 of 4

Letting: 05181002

October 02, 2018

Call Order: 010

Contract:

E5U70

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.